LT ERFAY LTASEEE—FH BEH NEGE —REHEA (%%é&)

3 RMA
— B (B4 240 5) _
1 2 3 4 .5 6 7 8 9 10
Bl Rl clc | DID|IB|IA|B]|A
A (B4 £404)
) @ ® @ ®
513 10 | Z 400 240
® @ | @ ()
26 SAS 45 20 %5
=3 EA (#£20%5)
1. B— ,C,» EF = DF , BF = CF . | 2. W@ - B—EHLE—IP » FEHDIERLE
fs—gz-ﬁﬁl zjui%ﬁgﬁ EiTEE  PRYSBIREELQ (ﬂ\fﬁ{%‘%’f‘i‘%ﬁ{’ﬂﬁﬁﬁﬁ
1. ABEF=ACDF Ry (64)

2. NABD=AACE

WE

1. &£ ABEF #LACDF ¥

B EF = DF » BFE =CF (&%)

a8 =< DFC

AR SAS BFMWE o 3] 4u A\ BEF=/N\CDF

B AABD SENACE ¥

B2 A=A 2B=,C A

BD = BF + DF =CF + EF = CE

Fit AARAE éA >EME T%UAABDEAACE
(B#%24)

© AR PA=AR
ON R QBB

/

DAETAL LIAGY

3. 48 » AABCH1 » 4B = AC - ADL BC
L~ M4YIE 4B ~ AC Wy » % BC =
24, AD =8 EUAAEFﬂﬁEﬁﬁ%f}Jiﬁﬁu ?

(64-)

()




